Dienstleistungskalkulation Aufgabe 2

Als Projektleiter in einen Mediendesign-Projekt, hat der Chef Sie gebeten, eine

Dienstleistungskalkulation durchzufihren.

Materialkosten
+ Materialgemeinkosten

25,00%

1.500,00 €

= Gesamtkosten Material

Fertigungsstufe 1
+ Gemeinkosten Fertigungsstufe 1

35,00%

280,00 €

= Gesamtkosten Fertigungsstufe 1

Fertigungsstufe 2
+ Gemeinkosten Fertigungsstufe 2

75,00%

200,00 €

= Gesamtkosten Fertigungsstufe 2

Fertigungsstufe 3
+ Gemeinkosten Fertigungsstufe 3

180,00%

99,00 €

= Gesamtkosten Fertigungsstufe 3

Fertigungsstufe 4
+ Gemeinkosten Fertigungsstufe 4

250,00%

180,00 €

= Gesamtkosten Fertigungsstufe 4

= Herstellungskosten

+ Werbekosten

5,00%

Selbstkosten

+ Gewinnzuschlag

45,00%

Barverkaufspreis

Kundenskonto

+

1,50%

Zielverkaufspreis

Kundenrabatt

+

18,00%

Nettoverkaufspreis

+

Umsatzsteuer

19,00%

Bruttoverkaufspreis

© Sven Siss 09.04.2011

www.sven-suess.de

Seitelvon1l



	Dienstleistungskalkulation Aufgabe 2

